C12 - 8.6 - Log Both Sides HW

Solve for x
4 = 2%
4 =3*
5 =4*
7 — 22x
1
5=2x
40 = 5(3)*

12 =2%
14 = 2%
30 = 5%
80 = 32¥

99 = 10*

267 = 10*

27 = 5%

1080 = 25%

60 = 3(2)*
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38 = 6%

0.2 = 6%

9% =76

X
180 = 52

18 = 2x+1



C12 - 8.6 - Log Both Sides HW

47+ = 12 25 = 3%2 126 = 35+

80 = 23*-1 23-x — 5x-2 22x-3 _ gx-1

32x+1 _ gx+l 120 = 6(2)**1 80 = 4(2)3*1
25 = 4(3)* 62 = 5(3)2%1
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C12-8.6-Rule 7 b198v* = x| og HW

Zlogz 5 _ x 3log3 8 _ X

2210g4 6 _ X

log, 6 — log, 32 _
32logs 4 _ 5 4 x 2 =x
Zlogx =1 3log2x -
4 2-logx - g 27
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